7.5 i
Exponential and Logarithmic Equations

1. Use the properties of exponents to

I Solving
hﬁ%} Exponential 2. Rewrite the equation so both sides
Equations 3. Drop the bases an

d SET THE EXPONENTS EQUAL TO EACH OTHER.

Exponential Equations

SIMPLIFY each side of the equation
have the SAME BASE

Type 1- Equations with a Common Base
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What if a common
base is NOT possible?
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1. ISOLATE the exponential expression.

2. TAKE THE LOG of both sides
3. You may need to EXPAND the log (Use the power

Canno)r D}MLL

i}t)le)

Type 3- Equations with NO POSSIBLE Common Base
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- Logarithmic Equations

7.5 Exponential and Logarithmic Equations

Logarithmic Equations

Type 1: LOG=LOG

1. CONDENSE each logarithm.
5 Use the One-to-One Property: If log, m = log, n, then
3. SOLVE and CHECK FOR EXTRANEOUS SOLUTIONS.

| Type 1: LOG=L0OG
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13.log, 68 — log, 4 = log,(3n + 11)
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Logarithmic Equations
Type 2: LOG=NUMBER

1. CONDENSE and ISOLATE the logarithm.
2. Write the equation in EXPONENTIAL FORM
3. SOLVE and CHECK FOR EXTRANEOUS SOLUTIONS.

Type 1: LOG=NUMBER

15.log,(x—4) =6
9= x4

~—o vV
W =% _L\ \DCB;(\D‘D z

16.logs(4x+8)—7 = -3
la" & Yo B

990 - Yx +¢
(288 ““Fx

17.log(2x) + log(x —5) =2
logy (ox)(x-9) = Q

18.2-logx —log4 =2

0% —1ogHd =3
QX -log

(te)*g)

20)6) = log Cleilke)
]ooj l\b/) o‘g_cpﬂv

10°=(@X(x-5) o 5> 5

10D = x2 —|0X \O = %tj
P =y ~106

3= ;)xa lbx‘ l> 100 = th)t

=14 dalie - et oy

= HOO =%
(X~ (xt5) +20=%
ak >

ext (72

Scanned with CamScanner



